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319 [R= T X (518) BB LT AHRET 22H(B) 6.9 6.5
320 |R=E T X (518) BB LT AHRET 248 (7k) IS 5.9
A EES T X (518) BB LT AHRET 25H (K) IS 7.9
322 |R=E T X (518) BB LT AHHET 26H (£) IS 6.3
323 |R=E T X (518) BB LT AHRET 260 (£) IS 7.4
P EES T X (518) BB LT AHRET 260 (£) IS 6.7
325 |R=E T X (518) BB LT AHRET 29H(B) IS 7.1
326 |R=E T X (518) BB LT AHRET 29H(B) IS 9.3
327 |R=E T X (518) BB LT AHRET 30H (X) IS 6.5
328 |R=E T X (518) BBLLITHRERL 23H(X) IS 6.9
329 |R=E T X (518) BBLLImh A ~FET 25H (K) IS 6.1
330 |R=E DX (F18) ELLUTHEAREEA | 17H (7K) A& 7.3
331 |R=E DX (Fi8) ELLUTEAHREIEA | 25H (K) A& 6.2
332 |R=E DX (Fi8) ELLUTHEAHBTEHE [ 30H (N) A& 7.6
333 |R= T X (518) 8L E A= 15H(B) IS 8.9
334 |R=E T X (518) LI E A= 195 (£) IS 7.6
335 |R=E T X (518) LI E RIS 248 (7k) EN Y 17.5
336 |R=E T X (518) BB LT ERHE] 15H(B) IS 6.1
337 |R=E T X (518) BB LT ERHE] 29H(B) 12.0 7.2
338 |R=E T X (518) BB LT ERHET 29H(B) IS 6.5
339 [R=E T X (518) BB LT ERET 30H (X) EN Y 6.8
340 |R=E T X (518) BLUHE 11H(K) IS 6.4
341 |R=E T X (518) BLUHE 11H(K) IS 6.3
342 |R=E T X (518) BT EH 23H(X) IS 9.3
343 |R=E T X (518) BT EH 30H (W) IS 9.9
BT EES T X (518) EILUHHENTEE | 10H(K) IS 4.3
345 |R=E T X (518) EBLUHHENETEE |[29H(8) IS 7.6
346 |R=E T X (518) EBLUTHENEIEE | 30H(N) IS 5.5
347 |R=E T X (518) EILUHHENTEE [ 11H(K) IS 5.4
348 |R=E T X (518) ZLLUH /M 29H(B) IS 6.7
349 |R=E T X (518) L= HET 24H (7k) IS 7.1
350 [R=E T X (518) BB LLmhIS 15H(B) IS 8.1
351 |R=E T X (518) S LT FAEBT AR | 23H () IS 10.0
352 |R=E T X (518) 8L HA0EHET 2H(N) IS 6.9
353 |R=E T X (518) 8L HA0EHET 15H(8) IS 9.4
354 |R=E T X (518) LU BEMNEAEISE| 9H ) IS 7.4
355 |R=E o X (518) LU BEMNHEEISE| 9H X 14.9 4.9
356 |R=E T X (518) B LU HANEEI =2 | 16H(N) 16.6 4.5
357 |R=E T X (518) LU BEANAEEISE [ 16H (X)) IS 6.4
358 |R=E T X (518) LU BEMNEAEEISE [ 17H (k) IS 8.0
359 [R=E T X (518) LU BEMNHIISE | 19H (&) IS 6.5
360 |R=E T X (518) LU HANHEEISE | 24H (k) IS 5.2
361 |R=E T X (518) LU HAAEEISE | 25H (K) IS 5.2
362 |R=E DX (F18) ELLUHmEALLBINLLE| 295 (8) A& 10.4
363 |R=E DX (F18) BT E A LB /AL [ 30H (N) A& 6.9
364 |R=E T X (518) LT Z R BT 195 (£) IS 6.0
365 |R=E T X (518) HNE =&FH] 15H(B) IS 6.9
366 |R=E T X (518) N NG 16H (N) 7.1 6.5
367 |R=E DX (5iE) mE™ 8H(H) IS 10.0
368 |R=E DX (5iE) A= 178 (7k) IS 7.4
369 |[R=E DX (5iE) A= 195 (£) IS 6.5
370 |R=E DX (5iE) A= 195 (£) 6.7 5.8
371 |R=E DX (5iE) A= 30H (W) e 5.3
312 |R=E DX (5/v8) [BLmZEET 4k 9H (N) IS 9.6
373 [R= DX (F/)0\E) [BLH2E FTREES] 128 (£) IS 7.1
374 |R=E DX (F/)0\E) [BLH2EE FEEES] 18H (OR) e 7.7
375 |R=E DX (5/1vE) BB RHRE] 8H(H) e 7.5
376 |R=E DX (5/1vE) BB RHRE] 8H(H) e 7.4
TV EES DX (5/1\vE) BB RHRE] 115 (K) e 9.6
378 |R=E DX (5/1vE)  [BRLLTRR 3H (k) e 8.8

X RHRFERBE “FRE” ERRo SEFEEM @ BT



BRHEETEFOMGEREER GEREXLF1—L4) 7/8
REHAME - FRR2TE6HT1H (B) ~FR27E6H30H (N) (BAiL : N 9blb/kg)
=i - o e ®REH R BHRARESET
379 [R=E DX (5/v8) [BLmESAHE 23H (N) IS 10.0
380 [ER=E DX (F/\E) |BLUHTEAHEIEFEERE| 2H(N) IS 10.0
381 |R=E DX (F/\E) |BLUHEXAHEIEFEER] 18H (K) g 1.7
382 |R= DX (F/E) |BLUHEAHEIRREER| 22H(8) g 10.8
383 [R=E DX (F/\E) |BLUHEAHEIRFEERE] 22H(8) IS 10.3
384 [R=E DX (5/vE)  [BILm=xIR 1H(8) IS 4.2
385 [E=E DX (/1)  [BLmHEE R T5 [ 308 (X) IS 6.9
386 [E=E DX (5/v8) [BilUmEM 118 (k) IS 7.7
387 |R=E DX (5/1vE) [BLmHFIHET 1H(8) IS 4.7
388 [E=E DX (5/1vE) [BLmHFIHET 2H (N) IS 6.8
389 [E= DX (5/1vE) [BLmHFIHET 4H (K) IS 7.1
390 [ER=E DX (5/1v8)  [BLmHFHET 5H (&) IS 9.0
391 |R=E DX (5/1v8) [BfLmHFIHET 158 (8) IS 1.7
392 |R=E DX (5/1v8) [BLmHFIHET 158 (8) IS 7.8
393 [R= DX (5/1v8)  [BLmHFIHET 158 (8) e 8.3
394 |R=E DX (5/1v8) [BLmHFIHET 22H(8) IS 4.7
395 [ER=E DX (5/1v8) [BLmHFIHET 26H (&) IS 6.8
396 [E=E DX (5/1v8) [BLUmHMHITSE]| 2HCK) IS 6.3
397 |R=E DX (5/1v8) [BUmHMHETSE]| 2HCK) IS 6.3
398 [E=E DX (5/1v8) [BLUmHMHESE]| 98N EN Y 7.9
399 [E= DX (5/1v8) [BlLUmEXALLET 8H(8) IS 6.9
400 [R=E DX (F/\E) |BLUHEALBIREE] 2H(N) IS 6.9
401 [R=E DX (/M) [=XN™ 158 (8) 9.4 6.6
402 [R=E = BB LT AHRET 10H (k) EN Y 19.1
403 [R=E = BLLUHEANETEIL [ 15H(B) IS 6.2
404 [R=E IS VR 8L HA0EHET 158 (8) IS 10.5
405 [R=E Y a1—u~N\Y— B AHET 2H (N) IS 16.4
406 |[R=E 20V BB LT AHRET 17H (k) IS 22.5
407 [R=E 20V BT EH 30H (X) IS 9.8
408 [ER=E [ BB LT AHRET 24H (7K) IS 12.9
409 [ER=E [ BB LT AHRET 24H (7K) IS 9.0
410 [R=E [ BB LT AHRET 29H(B) IS 6.0
411 [R=E [ BTN [ 26H(®) IS 6.2
412 |BR=%E ED LT w thH] 17H (k) A& 7.9
413 [R=E [ UM HMHETSE | 17H (k) IS 6.2
414 [R=E JRD BT AT BT B | 24H (k) IS 7.6
415 [R=E 7RD BB LT AT BT B | 24H (k) IS 9.7
416 [R=E 7RD BT AT BT B | 24H (k) IS 6.6
417 [R=E 75y oY — |ESLTARE] 18H (K) IS 6.7
418 [R=E Z)L—_Y— B {EETRE 16H (X) IS 7.3
419 [R=E =AU = [EUTHENETER [ 235X IS 6.4
420 [R=E =AU — B8R ET R | 248 (k) IS 9.0
421 |R=E J)I—R1— ZIUHmHMNHETSE | 295 (B) A& 7.0
422 |R=E ARSI X BB LT AHRET 24H (k) IS 12.1
423 [R=E Z AN — L EXABIRHEER | 24H (7k) IS 10.9
YEES Z AN — B LT EHATET 4 B | 24H (5K) IS 6.3
425 [Z o ER B EEIZHE | 15H(A) 164 .2 5.3
426 [Z Db R B EEITZHE | 26H(2) 102.2 6.4
427 [Z ER B E BT ZHE | 30H () 66.3 7.7
428 [Z b EA (Zn) LU EEZHE| 1H(A) 117.7 8.5
429 [Z D DX (BEE) BB LT AHHET 4H (K) 15.6 8.0
430 [Zofb DX (BEE) BB LT AHRET 24H (7K) 30.2 9.6
431 [Zofb D X BB LT AHRET 48 (K) 22.1 7.5
432 |[ZFDfth 7 X BB LT AHRET 24H (9K) 24.7 7.5
433 [ Z D1 Bt B =FEHAET=M | 11H (K) 22.6 6.2
434 [Z Db B/t (vE) 8L HAOERHT 17H (k) 119.3 8.4
435 |[Zofh B/t (vE) 8L HA0EHET 18H () IS 5.5
436 [Z 1 B (RFYZ) [BRLLTHAHHE] 10H (7k) IS 8.1
437 [Z RER LU EEZHE| 1H(A) 269.1 6.6
438 [Z b 4 (§) B E BT Z HE | 30H () 72.5 16.2
439 [Zof ¥ (§) HS R s e 1CHT 18H () e 21.0
440 [Z 1 Hryay () |[BLUHEAHEECA| 5H(E) e 20.4
441 [Znfh Hyrvay (F) |BLUMHEEDER [ 12H(E) e 14.2

X RHERFAEREE “FMRE” &FTo
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BRHEETEFOMGEREER GEREXLF1—L4) 8/8
REHR - ER2TER1H (B) ~FERi27E68308 (X) (BT @ N 9LIb/kg)
E23L] — - o B=EH . BHRRESE
g | A7V fE RS (68) £79k136+137 (£794134+137)

L2 | Zfb A= L HNETSE]] 8H((B) ~EH 3.5
L3 [Z s 54 /3 (BY) [ERLTHAHEE] 18H(B) T 8.6
LiL, | ZDfb 54 /3 (BY) [ERLTHraEe] 198 (£) T 9.8
L5 [Z0fs <3 (3N BT 108 (7k) & 9.1
L6 [ZDfE ROF=VD  [BUTHARE 8H(R) 13.8 8.8
L7 [Z0f NFZY LU EANETEH | 26H(2) IS 1.7
448 [Z NFZY LM BT ] 26H (&) T 17.0
449 [Zfs E7 B =#MEBTIIH ]| 128 (&) ~EH 9.5
450 [Zofe IIFE LT rERI R E [ 15H(A) T 13.1
451 [Zofb Sy¥av (B6E) |[BRLHEXEERER| 245 (k) IS 9.1
452 |H26EEK K (ZEXK) S HFANEBTHER | 2HCX) ~EH 5.0
453 |H26EEK X (ZXK) N /N 29H(B) ~EH 5.5
454 |H26EEK X (BX) B HFAIEBIH#ER | 2HCX) T 4.9
455 [H26FE K X (BX) LT HAMBEI &2 | 26H (k) T 4.9
456 [H26EFEREK X (BX) HA™ 22H(B) & 4.8

X RHERFAEREE “FMRE” &FTo

SEFEEM @ BT



